EAGRAROBREERT — 2 N— ABISH —F

202154848 (B) 1E{£E3A

IBGBC2—9# C2 ¥5%4m L ‘ (x] & ‘ [REmE] - | 4 (&) 13000 FE
[AE4£] 1% :320,000"  23%&:9,000H”  3#%&:51,000M  437&:26,000MH . 573%&:19,000
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= > 4| BXTH 1:24.2 3-2-3-3 [38.7| — 1 444 | WTEX (ER)
1 : AR T Cea0 o (5 |EHEX
R Z2ZXHA-X914 BAXHILIR g5 RS
S8 —p > HKIRA 124. —-4-5- . — FllEE (1£8)
» 2 IA>>d—L A s 56?0 1(12/42)3 AR R ° (55;) éﬂ%;@ .
L:Jq 7 hT—EY B:I-22 U T3> FERS
vy 4 | TTEH 1:24.4 2-3-22 |38.9| — | 3 | 518 |WEHE (£H)
318|190/ 7BRAF— - 56.0 (7€) (1) | AR
LN=VITL By FL N — J—HrTr—L
s 7 | BER—E 1:24.4 1-1-1-1 | 39.1| — 7 449 | JIIEZEEF (1£H)
4l 7|¥T™T 54.0 (1) (5 | FEHET
R:g— KR B:TFHCTE-L BRI
— ft 6 | MK 1:24.5 5-5-4-5 |38.9| — 4 468 | BIEX (£R)
5 6 P i e .0 (1/2) (-2) (F) J P N#HR
L:7UF—v B+ —2—hKIAH S e
S S FEE 124, —10-7— . = Z/EEAN (ERB)
6 3| FavyvauEY i *55% 1(12/42)6 10-10-7°6 | 38-5 6 (‘?10) E%%?— -
LE—LILSFLAE BYLF—S 0 Ry HEFHRF—T I
. oK it 8 | IS 1:24.9 7-7-9-7 |38.7| — 10 | 448 | EREEEEA ((E8)
ARIR RN 54.0 (1 1/2) -2) "R 4 P N
LAY aR—5— BiLAIIy R INTy—L
R NMAYZ : -9—10- — REHER (£8)
glsls|swzr—7 i 5 e 1.(215).1 9-9-10-9 | 38.6 8 (4_162) nEa
L2917 b F—F7—FK—K B:HYTFNERR AR
R # o6 | WTHE 1:25.5 8-8-6-8 |39.3| — 9 432 | EARAT (EB)
ol7|8|Fr>K 860 @ Oy |mmEa T
RiANT7z—"9I B:iky bw>K IR A
. o4 | AllER 1:27.7 6-6-8-10 | 41.5| — 2 494 | FBBF (ERH)
101819 OXE |“J7077/ 56.0 (1Y) (+1) #) a1
RZRASTUE—> BTITI by TH g Ek
® 1 —F—@EBIERL
13—+— 7,10,4,2,6,9,1,8,5,3
20—F— 7,4,10,2,6,9,1,8,5,3
Ja=9= 7,10,4,6,2,8,3,9,1,5
40 —F— 7,10,4,2,6,3,1,8,5,9
[ N5
BB 4 2400 | | 74 K 2-4 4501 | | # = 2-4 1,180 | | 3:&EE 2-4-10 1,520
B B 4 140 4-10 270M B = 2-4 1,300 3B 4-2-10 8,120
2 2104 2-10 500M B H 4-2 2,030M
10 130M

ARICOVWTRDTEEERROODE. TR LI,




